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QJJ:=VOL/((HIGH-LOW)*2-ABS(CLOSE-OPEN));XVL:=(IF(CLOSE>OPEN,QJJ*(HI
GH-LOW),IF(CLOSE<OPEN,QJJ*(HIGH-OPEN+CLOSE-LOW),VOL/2))+IF(CLOSE
>0OPEN,0-QJJ*(HIGH-CLOSE+OPEN-LOW),IF(CLOSE<OPEN,0-QJJ*(HIGH-LOW),
0-VOL/2)));HSL:=(XVL/20)/1.15;0 OO :=((HSL*0.55+(REF(HSL,1)*0.33))+(REF(HSL,2)
*0.22));LLIX:=EMA([I [0 ,3);B1:=SUM(LLJX,1);B2:=SUM(LLJX,2);B3:=SUM(LLJX,3);B4:
=SUM(LLJX,4);B5:=SUM(LLJX,5);B6:=SUM(LLJX,6);B7:=SUM(LLJX,7);B8:=SUM(LLIX
,8);B9:=SUM(LLJX,9);B10:=SUM(LLJX,10);A1l:=B1>REF(B1,1);A2:=B2>REF(B2,1);A3:=
B3>REF(B3,1);A4:=B4>REF(B4,1);A5:=B5>REF(B5,1);A6:=B6>REF(B6,1);A7:=B7>REF(
B7,1);A8=B8>REF(B8,1);A9:=B9>REF(B9,1);A10:=B10>REF(B10,1);A1 AND A2 AND
A3 AND A4 AND A5 AND A6 AND A7 AND ABAND ASAND AL0,C D000 OO0
DO0O0000O00000000O000DbOO0o0oDOo0oooooon

O

O

Jogoogodbtobogboon

0 :=EMA(C,6);0 C:=EMA(0 ,6);0 0 1:=0 +0 -0 C;0 0 0 L:=EMA(O O 1,6);0 0 2:=
001+001-000 1,000 2=EMA(0 0 2,6):.CG:=0 0 0 2,0 L:=LLV(CG,12);0 1:
=HHV/(CG,12):FS3:=IF(CG>0 1,(CG+(CG-0 1)),CG):0 O :=(FS3-0 1)/0 1*100:PP:=(
FS3-0 1)/0 1*100;PPJ:=(PP,6);00 O O O :=DYNAINFO(8)>0;CROSS(0 O ,PPJ) AND
0ooo;
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0000 N2909M 290 3p 290 10KKD =LLV(LOWD N)OI
EEQ =HHV(HIGHO N)O
YYD =EMA((CLOSE-KK)/(EE-KK)*1000 M)[
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MMO =EMA(YYO M)

AAO MA(MMO M)O

Az 180

Bz 5001

Cz0 8801

CCU =(CLOSE/AA)T

MA10 =MA(CC*(2*CLOSE+HIGH+LOW)/40 3)[1

MAAAL =((MA1-AA)/AA)/30

TMPO =MA1-MAAA*MAL10

JO IF(MM&ItO

=AAO AAO DRAWNULL)O LINETHICK3O COLORCYANO
IO =IF(MM&ItO

=AA0 10 2)[

Al =MMUO LINETHICK2[ COLORYELLOWII

XO =IF(MM&ItO

=AAL MM DRAWNULL) LINETHICK2[0 COLORGREENCI
&nbspl]

UP10 =JJ=2 AND EXIST(CROSS(AAL Az)1 P)U

DOWN1[ =CROSS(AZ AA)T

XGO TFILTER(UP1=10 DOWN1=10 1)

STICKLINE(XG=10O AzZ[O0 Cz0O 20 0)0 COLORYELLOWO
pPSOODO0O0OO0DOPOODODOONMOODDOOOOODOOODODODOOOAZDOOO
OD0DO000oDooOo"Xe=1"oooooOooooooooooooooo
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a:=zig(3,8);longcross(a,ref(a,1),100 =1;
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(00000000000000000000)NVARLD =(CLOSE&GD
REF(CLOSED 1) AND CLOSE&gtD

REF(CLOSED 2))0

VARDUO =(CLOSEVARED =(REF(VARDO 1) AND CLOSE&gt[]
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=REF(CLOSEO 1) AND CLOSE&It[]
=REF(CLOSEO 2))0

VARFO =(REF(VAREL 1) AND CLOSE&It(]
=REF(CLOSEO 1) AND CLOSE&gtD
=REF(CLOSEO 2))0

VAR100 =(REF(VARFL 1) AND CLOSE&gt[]
=REF(CLOSEO 1) AND CLOSE&It[]
=REF(CLOSEO 2))0

VAR110 =(REF(VAR100 1) AND CLOSE&It[]
=REF(CLOSEO 1) AND CLOSE&gtO
=REF(CLOSEO 2))0

VAR120 =(REF(VAR110 1) AND CLOSE&gtO]
=REF(CLOSEO 1) AND CLOSE&It[]
=REF(CLOSEO 2))0

VAR130 =(REF(VAR120 1) AND CLOSE&It[]
=REF(CLOSEO 1) AND CLOSE&gtD
=REF(CLOSEO 2))0

VAR140 =(REF(VAR130 1) AND CLOSE&gt]
=REF(CLOSEO 1) AND CLOSE&It[]
=REF(CLOSEO 2))0

VAR150 =(REF(VAR140 1) AND CLOSE&It[]
=REF(CLOSEO 1) AND CLOSE&gtO
=REF(CLOSEO 2))0

VAR160 =(REF(VAR150 1) AND CLOSE&gtO]
=REF(CLOSED 1) AND CLOSE&It[]
=REF(CLOSEO 2))0

VAR170 =(REF(VAR160 1) AND CLOSE&It[]
=REF(CLOSEO 1) AND CLOSE&gtD
=REF(CLOSEO 2))0

VAR180 =(REF(VAR170 1) AND CLOSE&gt]
=REF(CLOSEO 1) AND CLOSE&It[]
=REF(CLOSEO 2))0

O O ((REF(VARD OR VARE OR VARF OR VAR10 OR VAR11 OR VAR12 OR VAR13

OR VAR14 OR VAR15 OR VAR16 OR VAR17 OR VAR18[ 1)) AND VAR1)[
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(00000000
00000000--0000}02:(2IG(3,10)>REF(ZIG(3,10),1)) AND
(REF(ZIG(3,10),1)<REF(ZIG(3,10),2)):
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VAR1O =EMA(CLOSED 3)0

VAR20 =EMA(CLOSED 21)0

VAR3O =BARSLAST(CROSS(VAR20 VAR1))&gtDl

150

VAR4DO =VOL&gtD

MA(VOLDO 5)*2 AND VOL&ItO

MA(VOLO 5)*50]

0 0 O CROSS(VARLO VAR?2) AND VAR4 AND VAR3[
00oo000o0O0Dooon

MA(100*(C-LLV(LOWD 34))/(HHV(HO 34)-LLV(LOWO 34))0 3)0
0000 0IFCROSS(D O O 9)0 500 0)0
0000000000000
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(0000000} 000=EMA((CLOSE-

LLV(LOWDO 10))/(HHV(HIGHD 25)-LLV(LOWO 10))*40 4)0

XG10 =CROSS(0 O O 0 0.5)0

NO =50

VAR1O =4*SMA((CLOSE-LLV(LOWO N))/(HHV(HIGHO N)-LLV(LOWO N))*100

0o 4/5



OO0 gupiaozhishiba.com

050 1)-3*SMA(SMA((CLOSE-

LLV(LOWDO N))/(HHV(HIGHO N)-LLV(LOWO N))*1000 50 1)0 3.20 1)00

XG20 =CROSS(VAR10 8)[

RSV =(CLOSE-LLV(LOWO 9))/(HHV(HIGHO 9)-LLV(LOWO 9))*1000

KO =SMA(RSVU 30 1)
DO =SMA(KO 30 1)

JU =3*K-2*DUJ

XG3[ =REF(KO 1)&It[
50&ampl]

&amp[]

CROSS(KO REF(KD 1))O
XG1 AND XG2 AND XG3[J
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https://www.gupiaozhishiba.com/read/73203160.html
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